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DIPLOMA IN DAIRY TECHNOLOGY (DDT) 
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June, 2015 

BPVI-018 : DAIRY MANAGEMENT AND 
ENTREPRENEURSHIP 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. 	Define any ten of the following : 	 1x10=10 

(a) Dairy plant 

(b) Route 

(c) Milk-shed 

(d) Ledger 

(e) Cost unit 

(f) Overhead costs 

(g) MIS 

(h) Promotion 

(i) Demand curve 

(j) Net worth 

(k) Staffing 

(1) 	Break-even point 
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2. 	Differentiate between the followings : 	2x5=10 

(a) Current assets and current liabilities 

(b) Precautionary motive and speculative 
motive of maintaining working capital 

(c) Internal company records and market 
intelligence system 

(d) Defensive and attack strategies of marketing 

(e) Fixed costs and variables costs 

3. 	(a) What do you understand by milk losses in 	5 
dairy plant ? Discuss the various operations 
and areas of milk losses possibilities. 

(b) Discuss functional requirements and 	5 
organizational structure for effective 
planning of human resources in dairy plant. 

4. 	Explain the following : 	 5x2=10 
(a) Factors affecting human resource 

deployment in dairy plant. 

(b) Dairy plant layout. 

5. 	Define working capital. Discuss the endogenous 10 
and exogenous factors which affect the 
requirement of working capital. 

6. (a) What do you understand by segmentation, 	5 
targetting and positioning in marketing ? 

(b) Discuss the steps involved in procedure for 	5 
setting the product prices. 
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7. (a) What do you mean by entrepreneur ? 	5 
Discuss the important traits of an 
entrepreneur. 

(b) What is performance measurement ? Give 	5 
the benefits of performance measurement. 

8. Write short notes on any five : 	 10 
(a) Productivity 
(b) Use of computer in dairy industry 
(c) Book-keeping and accountancy 
(d) Standard costing 
(e) Market logistics 
(f) Target costing 
(g) Business plan 
(h) Managing downturn 
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